N & O &

g & M A

20208 = 20l A LBt H EXNEE D
EA: EXEE D
M FE23 BRE(ZELXNANL/TALEAI
el MAEBE TATH EREED
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
EXNXE W 3,030,319 1,938,609 1,091,710
= 576,915
= 14,100
Al 2,439,304
HE35 BRE(2ZELXNYGML /XL Z Al 447,976 538,350 N 90,374
NEE3 TARE 447 976 538,350 AN 90,374
2288 2922 447 976 538,350 AN 90,374
201 et Y| 50,350 90,350 A 40,000
01 AP 22| d| 4,550 4,550 0
OXNeldBEANAE EZ2H EH 2
200,000& * 3& * 23| 1,200
OXNeldEANAE EZ2HEX 2
150,000 = 53 = 104 750
OXNeldEANAE EZ2H KA
600,000& * 13| =~ 1CH 600
OEXOISEOA IAAMA OIY
500,000 * 13| 500
OEXOISHERA UJALZE 2A5)] 3 F¢
100,000 = 23| 200
OEXOISHERA UJIALZIE Z2AZE EYH
2 200,000 * 43| 800
OEXOIZSAHERA UJALZEXN 7L
500,000 = 13| 500
02 B232%H| 45,800 85,800 A 40,000
OBSAZSeZ22 A A (KRAS) S AI2el 24,800
—SESAMESEFZEAIAE DB S X 22
20,000,000& * 14! 20,000
—SESAMESEZEAALY T2 S22
400,000& = 12&€ 4,800
O=ZINZB22UAEEEESHMAHA SW L HWRIE$
300,000,000& = 7/100 21,000
401 A& HI L 2 04| 317,626 350,000 N32,374
01 Al&H| 317,626 350,000 N32,374
Oz 2 XotANaE=s 2352 A A
30,000,000& = 14! 30,000
OZ2UAEBAAE DEF L DBR=E(3X)
265,626,000 * 1A 265,626
OXNEE J|Eto 2T XY (XF) HH AlHAY
22,000,000 * 14! 22,000
405 XHA&HF S HI 80,000 80,000 0]
01 JHMY = EF S HI 80,000 80,000 0
OB ALE A (x| A B2 AFE) 204
80,000,000& * 14! 80,000
NEHAXH(ZELX I /KDL Al 2,500,383 1,318,799 1,181,584
= 576,915




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

ool XFeel (29 a8)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 14,100
Al 1,909,368
NESE= g 2,230,358 1,050,702 1,179,656
= 512,715
&< 14,100
Al 1,703,543
EXols &2l 152,955 73,065 79,890
201 gBt24d| 152,955 73,065 79,890
01 AP 22| H| 148,810 68,490 80,320
OEXOSE AFE M& Kol
50& * 5= * 5,0000H 1,250
OX&E&&HA TA 2 30,000& = 23 = 65 360
OXNXMoI2 HH™ZEY|(AS =2AD]) &2l
500,000 « 1CH 500
ogxasgll 2l ¥ |
600,000 * 2CH = 13| 1,200
OXNE=SFH HAK 20 a2
160,000&  14%H 2,240
OBREXNZERAIS =¢
70,0008 * 6YH = 33 1,260
OX&EII=E= B~= 137,000,000 * 14! 137,000
ONHHZOUY 222 29
1,000& * 5,000 = 13| 5,000
02 =224 H| 4,145 4,575 AN430
OXNEZE2(RHE)AAEZZ] - S/W S X 22
150,000& * 128 1,800
OXEINIZESHEAAAE - S/W SX 22
150,000& * 128 1,800
OSREXNZE Z2E3AN &8¢ RERZ2
J180& * 5021 * 53 545
X EHAA S22 141,340 93,608 47,732
101 e1214| 24,740 24,048 692
04 JIZtHI22XNEES 24,740 24,048 692
OXNEEH MAG ol
68,720 * 2% x 180 24,740
201 et 9| 71,240 39,500 31,740
01 AP 2t 2] H| 43,240 31,000 12,240
OXNMEMETH EH2X(A0) 2L
250,000 = 8&tA 2,000
OXNEEMAMEH s (Z20AHZZZE) 2
el 20,0008 * 302+A 600
ONHFMEH E268 B2H 23 7Y
2,000,0008 ~ 1ME * 13 2,000
OXNEMATH ZLURITRIEHD| EH(4M)
1,200,000 = 14 = 23 2,400




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

ool Xz (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNEZH BE2e| At 6,000,000& = 14 6,000
OXNBZEINEE AL=E 96,0008 * 3158 30,240
02 =224l 28,000 8,500 19,500
ONESSHTZE HAX 130,000& * 200& 26,000
OFII(ELAHOHE) RANE 24
1,000,000& * 20H * 13 2,000
308 XXM SOIA 39,360 24,060 15,300
10 B2 SUUe3AHEAE A 39,360 24,060 15,300
OXNHSIZEE slenel
15,000& * 2,624& 39,360
401 A& HIZ 201 8] 6,000 6,000 0
01 A& HI 6,000 6,000 0
OsFHEE AMEAY 600,000& = 10 6,000
Fs ARA HEs 2 NRSFH 22 4,200 4,200 0
201 Let24d] 4,200 4,200 0
01 At 22l 4,200 4,200 0
OXHoIa 85 o4  20& = 33 = 30,0000H 1,800
OXNHQUH g5 SASX 72
15,000& = 102FA « 123 1,800
O0Z) 2E 2 8% 29
50,000& = 208 63l 600
EREFA ALY 341,868 262,065 79,803
101 1A dl 24,740 24,048 692
04 JIZHHNZ2Z2XNSE+ 24,740 24,048 692
OHEHSE ZA FHl =Y
68,7203 * 2H = 180¢ 24,740
201 Let24d] 33,004 28,644 4,360
01 At 22/l 27,180 26,460 720
OE2E =AY 6,400
—=FAEE g |Xzel
500,000& = 23| 1,000
—M=z=AEH E2H RS>
1,000,000& * 13l 1,000
—M=A25H ZE2H X 60,0008 » 208 1,200
—M=a&H E22H 23
160,000& * 3& 53l 2,400
—dE8Hs®E TN HESZH A2
gl 500,000& * 13 500
—JJEE2H Z¥ 150,000 * 2K 300
OE2g=AL S22 ME 16,300
— 228 g% 60,0003 = 10002 + 13 600
~CRYUEA BHUSE
1,000& = 5,0000H * 13| 5,000




A EXNEEDL

HE: NNSN(FELNGHL/NALTA)

chels XX 22 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—&8X& ot XI& 800& = 10,00000 = 13l 8,000
—2IETANNZHS B2 BY
90& = 10,00001 = 13l 900
—dN=ANE E22=E
90& = 20,00001 = 13l 1,800
OASHET LOMFN S IRAA R0l
50& * 6& = 3,00004 900
OAES 2 olEfd=F ESUEE U2
90& = 10,0004 = 13l 900
OXNZEAJZ HFAx=4 70,0008 » 3H * 23] 420
OERTZASAS B4 &g
70,0003 = 11" « 23| 1,540
OALLE 2IFLAFEANAE FSUHERS
30,0003 = 2CH » 12& 720
02 3323l 5,824 2,184 3,640
OE2H=A XGeHHE MIIRS3
1,000 = 22044 + 12& 264

OZE2Y 20 L B DNES 2z BRI
2,180% * 5008 * 23l 2,180
OZ2YZE4 SNEL DXS L& BRI
2,180% * 5008 * 23 2,180
ORHILTREFA ALSRALE SWRX
2zl 100,008 * 122 1,200
206 M2t 16,600 16,600 0
01 Wbl 16,600 16,600 0
OE2YF4 HOAY 16,600
—ANEZ2 2282 39 1,000,008 * 23l 2,000
—NEZ2 M8 BANEX 7Y
650,0008 * 48 2,600
AP HP ASE ASHSEH(VAE) 7
o 6,0002! * 1,000%4 6,000
— e YAR ASHSH 2Y
6,000 * 1,00004 6,000
308 XXl £ H S0l & 23,680 21,673 2,007
10 BII2HS 0l 05t 2 & = I At b 23,680 21,673 2,007
O2NFAHBAAY STE 16,460
—6IS S/W RX2e 2,400,0002! * 14! 2,400
— 2NFATBAAL(KAIS) 2L
14,060,00091 * 14 14,060
OZ2gzAII=2E RM2E
7,220,0008 * 14 7,220
401 A& HI L 2Ol 243,844 171,100 72,744
01 Al&HI 242,100 171,100 71,000
OZZgE S &1 ¥ |1z 56,100
— MR REE & 450,0002 * 507 22,500




EXNFEE Y
NHAH(RELXSA
=2l

5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
TS =T
450,000& = 304 13,500
—HAUFE 21 & RA2el
90,000& = 504 4,500
—LEDEZ2 Y =4 SHUAIE |22l
1,000,000& * 400 2 4,000
— Xl <ot 100,000 * 31JH 2 3,100
—HAS EHFA HUXNE SR 2l
100,000 * 85JH A& 8,500
Od=z8s | 22|
15,000& * 1,0004 15,000
OE2:d SAE R =X 2
60,000& * 3000H 2 18,000
OE2E =4 ISUHXNE HME 2 &X
250,000& * 36404 & 91,000
OE2d= Ml &= A 62,000
el gl 40,000,000 = 14l 40,000
29 22,000,000& = 14 22,000
03 Al 2 THHI 1,744 0 1,744
OEzg= =N
1,744 ,000& * 14 1,744
)X 22| 6,951 10,020 A 3,069
= 6,951
101 @124l 6,951 10,020 A 3,069
= 6,951
04 J12tH 22 XS 6,951 10,020 A 3,069
OXNAHIIES= oI
6,951,000& = 14 6,951
= 6,951
=) Xl & TH = AFAL 505,764 94,444 411,320
= 505,764
401 AIEHI L 2CHYI 505,764 94,444 411,320
= 505,764
03 Al S THHI 505,764 94,444 411,320
OXI & TH = A 505,764,000& * 14 505,764
= 505,764
SIEEYFAAMN 55,500 7,000 48,500
< 11,100
Al 44,400
401 Al HI K 2018 55,500 7,000 48,500
< 11,100
Al 44,400
01 A& Hl 55,500 7,000 48,500
o9z =z2Y 55,500,000& * 14 55,500
< 11,100
Al 44,400




2N
X ZH -
L= B
el

EXNFEE Y
ANHBH(2ELX AL /AL Al
=2l

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
(E)E2EFAANLEELMESEX 10,000 0 10,000
< 3,000
Al 7,000
401 Al HI K 201 I 10,000 0 10,000
< 3,000
Al 7,000
01 A& Bl 10,000 0 10,000
O=IMXNBHSE A X X &AL
10,000,000& * 14 10,000
< 3,000
Al 7,000
NETHEAL AHS 1,011,780 506,300 505,480
101 @124l 17,180 16,700 480
04 JIZHHZ2XNHESE S+ 17,180 16,700 480
OXNEMEAAMG 12
68,7203 * 2H » 125¢ 17,180
201 Let24d] 194,600 89,600 105,000
01 At 22l 187,040 82,040 105,000
OMNAZXA XHEHE ZSE S 23,800
— NEAMAE =2 470,000& » 20& * 13 9,400
—XNBEZE = 96,0003 * 150& = 13l 14,400
OXNETHEAMSXR FAGa 2
10,000,000& * 64! 60,000
OXEMEA GFHEXTH(RZE) ME L X
2,000,000& * 500 £ 10,000
OXNETHZALAY E2HI 9,080
—dMEFEX FD S 120,000& * 243 2,880
—NEMHZAMAMY E2E HF
2,000,000& = 23| 4,000
— NEHEZAALE HUHE2 S MZ
1,000,000& * 13l 1,000
— KNEHEZAALY &= W&
60,0003 = 10002 * 23 1,200
OZAHZBERAS = 70,0008 » 78 « 43 1,960
OXNAETMEAL?I e =
70,0003 = 5% « 43| 1,400
OZ&EEI==3 50,0008 * 7002 = 22HSH 70,000
O™ ZHSX(A0) 7+ 250,000& * 108 A 2,500
O&d sHEX(EcldArHEZZE) ¢
20,0003 254t 500
O&H =88 224 23 7+
2,000,000& * 1MIE * 23 4,000
OXNET=ZAL ZElH EU
400,000& * 1HIE = 23] 800
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A EXNEEDL

HE: NNSN(FELNGHL/NALTA)

chels XIot2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEXIHeHSI IOt 0Ol E=2H M1 TS
500,000& = 43| 2,000
(2)MHE S AIXIIEE ALLE 215,525 213,797 1,728
2 64,200
Al 151,325
101 @14 dl 61,848 60,120 1,728
= 1,302
Al 60,546
04 DI Z2XNHEE S 61,848 60,120 1,728
OMNESAIXIL ZA Q12 61,848
— KIS EE d& F & EXNSEEIMN 2
# 68,720& * 6% * 150 61,848
= 1,302
Al 60,546
201 L2l 147,917 147,917 0
= 62,898
Al 85,019
01 At 221l 147,917 147,917 0
OMESANXIN dEx=2 125,796
— &Iz 39,600& * 160,000 XI /60 X 105,600
= 52,800
Al 52,800
— ==AlE2 39,600& * 3,000 Xl » 50% * 30% 17,820
= 8,910
Al 8,910
—SAME L OYMNHEN LEL4E
39,6003 = 1202 Xl » 50% 2,376
= 1,188
Al 1,188
OEXNEH ZAME ¥ ZFEAN R
50,0003 * 30 A 1,500
OXZAtCHE 22 R 50,000& = 30=tA 1,500
OMNESAXI AEEN R
50,000& » 30 A 1,500
OXIJEEA HU €8 28 31 g9 MA
60,000& = 13 = 23] 1,560
ORsMIIASARAAS HA=E
70,000& = 129 = 63l 5,040
OXIIEH E2H EXI(A0) 7
35,0002 = 508 1,750
OXJEH E2H 43 2L (4M4)
200,000& * 20 4,000
OXNNETHEZH RA 2l
500,000& = 1CH = 43 2,000
OXIIEH MLXZE HAE CD
247,000 = 14 247
OS2 0HAHI 7,000 * 641 x 6H * 128 3,024




2H EXNELD
HE: NNSN(FELNGHL/NALTA)

el Xotz2el (22 &d)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
202 o4 4 5,760 5,760 0
01 =L 5,760 5,760 0
O=UWutl 20,0008 = 498 = 122 » 63 5,760
HY2IZH(EXNFEZ D) (JIEH/DIEH) 81,960 81,460 500
Jl=2&dl 81,960 81,460 500
Jl=23dHl 81,960 81,460 500
201 2erE= Sl 21,060 20,560 500
01 At 2t 2l bl 21,060 20,560 500
OSAEXN F 15,000& = 158tA » 128 2,700
OS2 AL 7,000& = 641 » 158 = 123 7,560
Odeteg 100,000& * 128 1,200
OArE =AY 50,000& ~ 12& 600
Oa72 =4t 8,100
— SAI =2l 1,000,000& » 1CH 1,000
—ZgH el 100,000 * 4CH * 50/100 200
—SAIIEYH 200,000¥ * 1CH * 53 1,000
—ZgH EU(E%) 200,000& * 404 = 53 4,000
—ZgH Eu(Zet) 200,000 * 104 = 53 1,000
—PC =¢cl 100,000 * 15CH * 20/100 300
— JIEb =2l 50,000& ~ 12& 600
OJIEtAt R 22l HI 5,000& = 15% » 12& 900
202 o4 4 56,700 56,700 0
01 =LHOIHI 56,700 56,700 0
OEXNZEEN 2= OH| 56,700
—2tLH0odHl 20,0008 = 15&8 * 122 » 123 43,200
— 2t/ o4yl 90,0003 = 15& » 10« 13,500
203 2R 3,000 3,000 0
04 FAN2EE =AY 3,000 3,000 0
OFNM2gE 2T 250,000& = 123 3,000
204 XM FH| 1,200 1,200 0
01 MG R+ HH 1,200 1,200 0
OXNMUGARTHIH(EXNZEENE)
100,000 18 « 123 1,200




